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Question Number : 1 Question Id : 8995145539 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which tvpe of forest 15 India mainly distributed?

1. Tropical deciduous

2. Mangrove

3. Coniferous

4 Evergreen
Options :
89951422035. 1
89951422036. 2
89951422037. 3
89951422038. 4

Question Number : 2 Question Id : 8995145540 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Population explosion is associated with

1. High birth rate and low death rate
2 High birth rate and high death rate
3 Low barth rate and high death rate
4 Low birth rate and low death rate
Options :
89951422039. 1

89951422040. 2
89951422041. 3



89951422042. 4

Question Number : 3 Question Id : 8995145541 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The study of the relationship between plants and amimals and the environments 1 which they
occur is called

1. Bio-ecology

2 Ecology

3. Ecosystem

4. All of these

Options :

89951422043. 1
89951422044. 2
89951422045. 3
89951422046. 4

Question Number : 4 Question Id : 8995145542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Green plants constitute

1 The first tropic level

2 The second tropic level
3_The Third tropic level
4 The fourth tropic level

Options :

89951422047. 1
89951422048. 2
89951422049. 3



89951422050. 4

Question Number : 5 Question Id : 8995145543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
So1l conservation means

1 Prevention of spread of desert
2. To check =oi1l erosion by wind and rain
3.To check zoi1l erosion by afforestation
4 All of these

Options :

89951422051. 1

89951422052. 2

89951422053.3

89951422054. 4

Question Number : 6 Question Id : 8995145544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

5t of June 1s celebrated as

1. World environmental day
2_ Cancer day

3. World population day

4. Women day

Options :

89951422055. 1
89951422056. 2
89951422057. 3
89951422058. 4

Question Number : 7 Question Id : 8995145545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following prevents afforestation in deserts?

1.Goat and grazing animals
2 Local resident

3. Infertility of soil

4. Low rainfall

Options :

89951422059. 1
89951422060. 2
89951422061. 3
89951422062. 4

Question Number : 8 Question Id : 8995145546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Highest bio-diversities 15 found in the

1 Monsoon region

2 Mediterranean region

3 Equatonial region

4 Polar region
Options :
89951422063. 1
89951422064. 2
89951422065. 3
89951422066. 4

Question Number : 9 Question Id : 8995145547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Maximum diversity of fauna is noticed among the

1. Vertebrate animals of the land
2 Invertebrate animals of the land
3 All of these

4 None of these

Options :

89951422067. 1
89951422068. 2
89951422069. 3
89951422070. 4

Question Number : 10 Question Id : 8995145548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India comiferous forests are found 1n

1 Madhyapradesh

2 Himalayan region
3 _Satpura hills

4 Rajasthan

Options :

89951422071. 1
89951422072.2
89951422073. 3
89951422074. 4

Question Number : 11 Question Id : 8995145549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The rate of marine erosion does not depends on

1 Nature of rocks
2 Amount of rock exposed on sea

3 Effects of tides and currents
4 None of these

Options :

89951422075. 1
89951422076. 2
89951422077. 3
89951422078. 4

Question Number : 12 Question Id : 8995145550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following cause global warming?

1. Fish swimming
2. Trees growing

3. Volcanoes

4. Mud shides

Options :

89951422079. 1
89951422080. 2
89951422081. 3
89951422082. 4

Question Number : 13 Question Id : 8995145551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Endangered plant species area also known as

1. Vulnerable species
2. Extinct species
3. Obsolescent species

4. Rare species

Options :

89951422083. 1
89951422084. 2
89951422085. 3
89951422086. 4

Question Number : 14 Question Id : 8995145552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Green date book contaiming a list of

1 Rare plant species

2. Rare plants and animals
3 Endangered species

4 Extinct Amimals only

Options :

89951422087. 1
89951422088. 2
89951422089. 3
89951422090. 4

Question Number : 15 Question Id : 8995145553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Plants and animals can be best protected in

1 Zoos
2. National parks

3 Botanical garden

4 Sanctuaries

Options :

89951422091. 1
89951422092. 2
89951422093. 3
89951422094. 4

Question Number : 16 Question Id : 8995145554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which forests teak trees are found in?

1. Marsi land

2 Tropical deciduous forests
3_Sub-Tropical deciduous forests

4 Mone of these

Options :

89951422095. 1
89951422096. 2
89951422097. 3
89951422098. 4

Question Number : 17 Question Id : 8995145555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Cardamom hills are located in which of the following state

1. Tamilnadu

2 Kerala

3 Karnataka

4 Maharashtra

Options :

89951422099. 1
89951422100. 2
89951422101. 3
89951422102. 4

Question Number : 18 Question Id : 8995145556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Monsoon means

1. Yearly seasonal change according to direction of winds
2. Arrival of monsoon winds
3. Departure of monsoon winds
4. None of these
Options :
89951422103. 1
89951422104. 2
89951422105. 3
89951422106. 4

Question Number : 19 Question Id : 8995145557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Indian climate 1s also known through

1. Summer season
2 Winter season
3. Monsoon

4. Rainfall

Options :

89951422107. 1
89951422108. 2
89951422109. 3
89951422110. 4

Question Number : 20 Question Id : 8995145558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Lowest rainfall occurs in India 13

1 .Gangetic valley
2. Eastern coastal region
3. Western region

4. Plateau region.

Options :

89951422111. 1
89951422112. 2
89951422113. 3
89951422114. 4

Question Number : 21 Question Id : 8995145559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Percentage of fresh water stored on earth’s surface 1 form of ground water 1s
. 20%
.30%
.28%

.35%

Lh L bd e

Options :

89951422115. 1
89951422116.2
89951422117. 3
89951422118. 4

Question Number : 22 Question Id : 8995145560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Percentage of earth surface which 1s covered by fresh water 1s
1. 8%

2 3%
3.13%

4 8%
Options :
89951422119. 1
89951422120. 2
89951422121.3
89951422122. 4

Question Number : 23 Question Id : 8995145561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which biome average summer temperature is below 109 C?
1. Deserts

2. Equatorial

3. Monzoon
4. Tundra

Options :

89951422123. 1
89951422124. 2
89951422125.3
89951422126. 4

Question Number : 24 Question Id : 8995145562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Wood pulp 15 used to manufacture
1. Fumniture

2. Paper

3. Rubber

4. Plastic

Options :

89951422127. 1
89951422128. 2
89951422129.3
89951422130. 4

Question Number : 25 Question Id : 8995145563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



All organisms share many biological
1. Habitat

2 Characteristics

3. Factor

4 Regions

Options :

89951422131. 1
89951422132. 2
89951422133.3
89951422134. 4

Question Number : 26 Question Id : 8995145564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Bio diversity 1s supported and habitat for wildlife 1s provided by
1. Forests
2 Deserts
3 Rocks
4 Cities
Options :
89951422135. 1
89951422136.2
89951422137.3
89951422138. 4

Question Number : 27 Question Id : 8995145565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



species 1s known as group of
1. Simmlar Families
2. Similar orders
3. Similar organisms
4. Similar phylum’s
Options :
89951422139. 1
89951422140. 2

89951422141.3
89951422142. 4

Question Number : 28 Question Id : 8995145566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

World’s highest bio-diversity 1s found in the
1. Polar regions
. subtropical regions

. Equatorial regions

FER VS R

. Temperate regions

Options :

89951422143. 1
89951422144.2
89951422145.3
89951422146. 4

Question Number : 29 Question Id : 8995145567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Chipko movement 1s related to

1. So1l conservation
2. Noise Pollution
3. Forests conservation

4. Endangered species

Options :

89951422147. 1
89951422148. 2
89951422149. 3
89951422150. 4

Question Number : 30 Question Id : 8995145568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Living species 1s danger of extinction amount to
1. 30%
2. 10%
3. 45%

4. 30%
Options :
89951422151. 1
89951422152. 2

89951422153.3
89951422154. 4

Question Number : 31 Question Id : 8995145569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



With reference to the coastal erosion which of the following 1s true

1. Exposed coasts of are eroded regularly

2. Even coasts of one rock type are eroded irregularity Select the correct answer from the
following code

1. Only 1

2. Only 2

3. Bothland 2

4. Neither lor 2
Options :
89951422155. 1
89951422156. 2
89951422157.3
89951422158. 4

Question Number : 32 Question Id : 8995145570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The rate of marine erosion does not depend
1. Nature of rocks

2. Amount of rock exposed to sea

3. Effects of tides and currents

4. Human inference

select the correct answer from the following
1. Only 4

2. Only 2 and 4

31.2and3

4. None

Options :

89951422159. 1
89951422160. 2
89951422161.3
89951422162. 4



Question Number : 33 Question Id : 8995145571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following prominent factors affects the distribution of forest?
1. Rainfall

2. Temperature

3. Soil types

4. None of these

Options :

89951422163. 1
89951422164. 2
89951422165. 3
89951422166. 4

Question Number : 34 Question Id : 8995145572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

sandalwood 15 extensively found in
1. Karnataka

2. Kerala

3. Tamilnadu

4. Andrapradesha

Options :

89951422167. 1
89951422168. 2
89951422169. 3
89951422170. 4

Question Number : 35 Question Id : 8995145573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



In India most of the rainfall occurs during
1. Winter season

2. North-East season

3. South-West season

4. Summer season

Options :

89951422171. 1
89951422172.2
89951422173.3
89951422174. 4

Question Number : 36 Question Id : 8995145574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following is not a phvsical element of environment?
1. Soil

2. Water

3 Air

4. Plants

Options :

89951422175.
89951422176.
89951422177.
89951422178.

AW N~

Question Number : 37 Question Id : 8995145575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which among the following 1s not a bases of classification of pollutants?
1. Bases of origin

2. Bases of visibility

3 Bases of nature

4. Human base

Options :

89951422179. 1
89951422180. 2
89951422181. 3
89951422182. 4

Question Number : 38 Question Id : 8995145576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following 15 not a source of natural pollutants?
1. Volcanic eruption

2. Soil erosion sediments

3. Flooded water

4. Agriculture

Options :

89951422183. 1
89951422184. 2
89951422185. 3
89951422186. 4

Question Number : 39 Question Id : 8995145577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



At world level members of bio-diversity are
1. 192 countries
2. 193 countries
3. 194 countries
4. 201 countries
Options :
89951422187. 1
89951422188. 2
89951422189. 3
89951422190. 4

Question Number : 40 Question Id : 8995145578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following 15 a dangerous hazard?
1. Cyclone

2. Earthquake

3. Cold wave

4. Flood

Options :

89951422191. 1
89951422192.2
89951422193.3
89951422194. 4

Question Number : 41 Question Id : 8995145579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which among the following factors is responsible for environmental pollution

. Urbanization

. Technology development
. Industrial revolution

. All the above

b P =

e

Options :

89951422195. 1
89951422196. 2
89951422197.3
89951422198. 4

Question Number : 42 Question Id : 8995145580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India tropical cyclone occurs
1. October-November

2. Januvary-Febrary

3. July-August

4 May-June

Options :

89951422199. 1
89951422200. 2
89951422201. 3
89951422202. 4

Question Number : 43 Question Id : 8995145581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Pure water has a PH level of an around what number?
1.9

2.10
3.0
45

Options :

89951422203. 1
89951422204. 2
89951422205. 3
89951422206. 4

Question Number : 44 Question Id : 8995145582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What could one effect of global warming be?
1. More 1slands forming
2. Sea level rise
3. More volcanic emuptions
4. More landslides
Options :
89951422207. 1
89951422208. 2

89951422209. 3
89951422210. 4

Question Number : 45 Question Id : 8995145583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which 1s the only species of herbivorous bear?
1. North American black bear
2. Brown bear

3. Giand panda
4. Asiatic black bear

Options :

89951422211. 1
89951422212.2
89951422213.3
89951422214. 4

Question Number : 46 Question Id : 8995145584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The ozone layer lies in the

1. Troposphere

2_ Stratosphere

3. Mesosphere

4. Ionosphere

Options :

89951422215. 1
89951422216.2
89951422217. 3
89951422218. 4

Question Number : 47 Question Id : 8995145585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The world’s wettest spot 1s

1. Digbot

2. Mawsynram

3. Singapore

4. London
Options :
89951422219. 1
89951422220.2
89951422221.3
89951422222. 4

Question Number : 48 Question Id : 8995145586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which state 1s called the “Tiger state™?

1. Rajasthan

2. Madhya Pradesh

3. Uttar Pradesh

4. Jammu and Kashmir

Options :

89951422223. 1
89951422224. 2
89951422225. 3
89951422226. 4

Question Number : 49 Question Id : 8995145587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s also known by the name of sahyadri range?

. Eastern ghats
. Western ghats
. Shiwaliks

- Vindhvas

B

Options :

89951422227. 1
89951422228.2
89951422229. 3
89951422230. 4

Question Number : 50 Question Id : 8995145588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The first marine sanctuary in India has been established in

1. Sunderbans
2. Chilka lake
3. Gulf of Kuch
4. Lakshadweep

Options :

89951422231. 1
89951422232. 2
89951422233.3
89951422234. 4

Question Number : 51 Question Id : 8995145589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s a non- conventional energy resource?

. Uranmim

. Coal

. Natural gas
4. Solar

L S R

Options :

89951422235 1
89951422236. 2
89951422237.3
89951422238. 4

Question Number : 52 Question Id : 8995145590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the correct descending order of the following sources in terms of their contribution to
air pollution in large cities in India?

1. Thermal power-industries-automobile-domestic combustion
2. Domestic combustion-thermal power- automobile- industries
3. Automobile- industries- thermal power- domestic combustion

4. Automobile- thermal power- industries- domestic combustion

Options :

89951422239. 1
89951422240. 2
89951422241. 3
89951422242. 4

Question Number : 53 Question Id : 8995145591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following forest species i1s not characteristic of the deciduous forests?
1. Teak
2 5al

3. Sandalwood
4. Deodar

Options :

89951422243, 1
89951422244.2
89951422245. 3
89951422246. 4

Question Number : 54 Question Id : 8995145592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The most Important fisheries in India are

1. Deep sea

2. Off shore

3. Natural inland
4_ Cultural inlands

Options :

89951422247. 1
89951422248. 2
89951422249. 3
89951422250. 4

Question Number : 55 Question Id : 8995145593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Soil that owes 1ts color to oxides of 1ron 15

1. Regur
2. Bangar
3. Laterite
4. Alkaline

Options :

89951422251. 1
89951422252.2
89951422253.3
89951422254. 4

Question Number : 56 Question Id : 8995145594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following tvpe soil largely distributed 1n India?
1. Alluvial soil
2. Black soil

3. Red soil
4. Peaty soil

Options :

89951422255. 1
89951422256.2
89951422257. 3
89951422258. 4

Question Number : 57 Question Id : 8995145595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s drought resistant?

1. Xerophvte
2 Halophyte
3. Mesophyte
4. Hydrophyte

Options :

89951422259. 1
89951422260. 2
89951422261. 3
89951422262. 4

Question Number : 58 Question Id : 8995145596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

So1l erosion in India occurs in all most all the littoral states but it is most serious along the
coast of

1. Kerala
2 Tamilnadu

3. Orizza

4. Karnataka

Options :

89951422263. 1
89951422264. 2
89951422265. 3
89951422266. 4

Question Number : 59 Question Id : 8995145597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following measures are effectrve for so1l conservation 1n India?
1. Avoiding crop rotation

2. Afforestation

3. Encouraging the use of chemical fertilizer
4. Limiting shifting cultivation

1.1and?2

2. 2and 4

3.3and 4

4 12and3

Options :

89951422267. 1
89951422268. 2
89951422269. 3
89951422270. 4

Question Number : 60 Question Id : 8995145598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The state which leads the others in marine fishing is

1. Kerala

2. Tamilnadu

3. West Bengal
4. Andrapradesha

Options :

89951422271. 1
89951422272.2
89951422273.3
89951422274. 4



Question Number : 61 Question Id : 8995145599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Allrvial cone 1s predominant in

1. Coastal belt

2. Piedmont zone
3. Delta region
4_Pediment region

Options :

89951422275. 1
89951422276. 2
899514222717. 3
89951422278. 4

Question Number : 62 Question Id : 8995145600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India, the tropical deciduous forests from the natural cover in nearly all the places where the

annual ramnfall 1z between

. 201em and 250cem
. 251em and 300cm
. 70cm and 100cm

. 101em and 200em

R

Options :

89951422279. 1
89951422280. 2
89951422281. 3
89951422282. 4

Question Number : 63 Question Id : 8995145601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which one of the following species has the largest area coverage in India?
Chir
. Deodar

. Bal
. Teak

L..»th.i:—-

e

Options :

89951422283. 1
89951422284.2
89951422285. 3
89951422286. 4

Question Number : 64 Question Id : 8995145602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During winter, North-Western part of India gets rainfall from

1. Thunder storms
2. Retreating monsoon
3. Western disturbances

4. Tropical cyclones

Options :

89951422287. 1
89951422288. 2
89951422289. 3
89951422290. 4

Question Number : 65 Question Id : 8995145603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Nagaland mountains are becoming increasingly barren mountains, mainly due to

1. Insurgency
2. Shifting cultivation
3. Urbamization

4. Rapid population growth

Options :

89951422291. 1
89951422292. 2
89951422293. 3
89951422294. 4

Question Number : 66 Question Id : 8995145604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The transition zone between two ecosystems 1s called

1. Biome

2. biotype
3. Ecotone
4

. Sere

Options :

89951422295. 1
89951422296. 2
89951422297. 3
89951422298. 4

Question Number : 67 Question Id : 8995145605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which One of the following pairs of forest resources are animal products?

1. Fibres and flosses
2. Gums and resins
3. Lac and wax

4. Drugs and spices

Options :

89951422299. 1
89951422300. 2
89951422301. 3
89951422302. 4

Question Number : 68 Question Id : 8995145606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which one of the following pairs 15 not correctly matched?

1. Wildlife protection act-1972

2. Water preservation act-1977

3. Ganga action plan-1981

4. Environment protection act-1986

Options :

89951422303. 1
89951422304. 2
89951422305. 3
89951422306. 4

Question Number : 69 Question Id : 8995145607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s not a greenhouse gas?

1. Carbon dioxide
2. Methane

3. Nitrous oxide
4 Argon

Options :

89951422307. 1
89951422308. 2
89951422309. 3
89951422310. 4

Question Number : 70 Question Id : 8995145608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a site for institute method so conservation of flora?

. Biosphere reserves
. Botanical garden

. National parks

. Wildlife sanctuary

B

Options :

89951422311. 1
89951422312.2
89951422313.3
89951422314. 4

Question Number : 71 Question Id : 8995145609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Chief source of energy 1s environment 15

1. Fire
2. Moon
3. Sun
4 Stars

Options :

89951422315. 1
89951422316.2
89951422317. 3
89951422318. 4

Question Number : 72 Question Id : 8995145610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In which vear was the first world environmental dav celebrated?
1. 1973
2.1974

3.1972
4. 1975

Options :

89951422319. 1
89951422320. 2
89951422321.3
89951422322. 4

Question Number : 73 Question Id : 8995145611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



soap and detergents are the source of organic pollutants like

. Glycerol

. polyphosphates

. Sulphanated hydrocarbons
. All of these

e b b2

Options :

89951422323. 1
89951422324. 2
89951422325. 3
89951422326. 4

Question Number : 74 Question Id : 8995145612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The effects of radiocactive pollutants depends upon

1. Rate of diffusion

2. Energy releasing capacity
3. Rate of deposition of the contaminant
4. All of these

Options :

89951422327. 1
89951422328.2
89951422329.3
89951422330. 4

Question Number : 75 Question Id : 8995145613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The major pollutants from automobile exhaust is

1. No
2. Co
3. So
4. MNaj

Options :

89951422331. 1
89951422332. 2
89951422333.3
89951422334. 4

Question Number : 76 Question Id : 8995145614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which Indian state has large area of forests?

1. Madhya Pradesh
2. Telangana
3. Karnataka
4. Tamilnadu

Options :

89951422335. 1
89951422336. 2
89951422337.3
89951422338. 4

Question Number : 77 Question Id : 8995145615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following has a potential for harnessing of tidal energy in India?

. Gulf of Cambay
. Gulf of Mannar
. Kayals in Kerala
. Chilka lake

R o

Options :

89951422339. 1
89951422340. 2
89951422341. 3
89951422342. 4

Question Number : 78 Question Id : 8995145616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The proportion of forest to the total national geographical area of India as envisaged by national

forest policy 15

1.30.3%
2.33.3%
3.383%
4.42 3%
Options :
89951422343. 1
89951422344.2

89951422345.3
89951422346. 4

Question Number : 79 Question Id : 8995145617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which Indian state has least forest cover?

1. Karnataka
2. Tamilnadu
3. Punjab
4 Kerala

Options :

89951422347. 1
89951422348. 2
89951422349. 3
89951422350. 4

Question Number : 80 Question Id : 8995145618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Carbon dioxide constitutes about 0.03% of the atmosphere

1. By volume

2. By weight

3. By mass

4. None of theze

Options :

89951422351. 1
89951422352. 2
89951422353.3
89951422354. 4

Question Number : 81 Question Id : 8995145619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



The biosphere reserves concept was created by

1. UNICEF
2. UNESCO
3. WHO

4. IUCN

Options :

89951422355. 1
89951422356.2
89951422357.3
89951422358. 4

Question Number : 82 Question Id : 8995145620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The earth summit of 1992 was held at

1. New Delhi

2. Tokvo

3. Rio de Janeiro

4 Manila
Options :
89951422359. 1
89951422360. 2
89951422361. 3
89951422362. 4

Question Number : 83 Question Id : 8995145621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Asatic lion in the wild are zeen in

1. Gir forests

2. Western ghats

3. Ranathambhore

4. Kaziranga
Options :
89951422363. 1
89951422364. 2
89951422365. 3
89951422366. 4

Question Number : 84 Question Id : 8995145622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In India, the first national park was

. Corbett
. bandipur

L B

. Sunderbans
4 Gir
Options :
89951422367. 1
89951422368. 2
89951422369. 3
89951422370. 4

Question Number : 85 Question Id : 8995145623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Indicate the correct hotspot diversity of India

1. Western ghats
2. Eastern ghats
3. Rann of Kutch

4. Gangetic plain

Options :

89951422371. 1
89951422372. 2
89951422373.3
89951422374. 4

Question Number : 86 Question Id : 8995145624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which Indian state 1s not the producer of Mica

1. Jharkhand

2. Andrapradesha
3. Rajasthan

4. Tamilnadu

Options :

89951422375. 1
89951422376.2
89951422377. 3
89951422378. 4

Question Number : 87 Question Id : 8995145625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s found 1n the form of monazite sand along the Kerala coast

1. Chromite
2. Uranium
3. Thorium
4. Radium
Options :
89951422379. 1
89951422380. 2
89951422381.3
89951422382. 4

Question Number : 88 Question Id : 8995145626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the two very common diseases found in coal field workers due to methane gas?

1. Tuberculosis and asthma
2. Cancer and asthma
3. Asthma and leprosy
4. All of the above
Options :
89951422383. 1
89951422384.2
89951422385. 3
89951422386. 4

Question Number : 89 Question Id : 8995145627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What are the Khetr1 mines famous for?

1. Coal

2. Copper

3. Iron

4. Gold
Options :
89951422387. 1
89951422388. 2
89951422389. 3
89951422390. 4

Question Number : 90 Question Id : 8995145628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

India 1s critically deficient in the reserve and production

1. Copper
2. Bauxite
3. Zinc

4. Platinum

Options :

89951422391. 1
89951422392. 2
89951422393.3
89951422394. 4

Question Number : 91 Question Id : 8995145629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an environmental consequence of floods?

1. Dispersal of weed species
2_Erosion of soil
3. Release of pollutants into water ways

4. All of the above



Options :

89951422395. 1
89951422396. 2
89951422397. 3
89951422398. 4

Question Number : 92 Question Id : 8995145630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following potentially affects the size of a flood?

1. Bridges and other structures in waterways
2. The size and windiness of a river
3. Vegetation 1n and around a river

. All of the above

e

Options :

89951422399. 1
89951422400. 2
89951422401. 3
89951422402. 4

Question Number : 93 Question Id : 8995145631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A flood can varv in

1. Size
2. Speed of water flow
3. Duration

4. All of the above
Options :
89951422403. 1
89951422404. 2
89951422405. 3
89951422406. 4



Question Number : 94 Question Id : 8995145632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A flash flood 15 a flood that

1. Is caused by heavy rain rather than from the flooding of niver
. Occurs in urban areas

5
3. Occurs suddenly and unexpectedly and for a short duration
4. Is caused by the blocking of drains

Options :

89951422407. 1
89951422408. 2
89951422409. 3
89951422410. 4

Question Number : 95 Question Id : 8995145633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following can reduce the risk of flooding?

1. Zomings and building regulations for new development
2. Dams, detention basing and levees
3. Flood awareness

4. All of the above

Options :

89951422411. 1
89951422412. 2
89951422413.3
89951422414. 4

Question Number : 96 Question Id : 8995145634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following place is most likely to be affected by a cvclone?

1. Mumbai

2. Puni

3. Goa

4. Porbandar
Options :
89951422415. 1
89951422416. 2
89951422417. 3
89951422418. 4

Question Number : 97 Question Id : 8995145635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During which decade did India see a negative population growth?

1.1901-11
2.1931-41
3.1911-21
4.1951-61
Options :
89951422419. 1
89951422420. 2
89951422421.3
89951422422. 4

Question Number : 98 Question Id : 8995145636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which one of the following activities constitutes primary activity?

. Fishing

. Teaching

. Construction

. Manufacturing

e Y

Options :

89951422423. 1
89951422424.2
89951422425.3
89951422426. 4

Question Number : 99 Question Id : 8995145637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In how many vears in the official enumeration of population carried out for census

L b

4

Options :

89951422427. 1
89951422428. 2
89951422429. 3
89951422430. 4

Question Number : 100 Question Id : 8995145638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Chlorofluorocarbon releases a chemical harmiful to ozone 15

1. Chlorine

2. Fluorine

3. Sulpur dioxide

4. Nitrogen peroxide
Options :
89951422431. 1
89951422432. 2
89951422433.3
89951422434. 4



